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7 100kN/m##z25| 1.00)| 000 ~ 199 130.77 |3m&xEZB| — ~ — — — [ 100kN/M#%E#EZ 5| 1.00 | 11.537 ~ 2275 130.77 |3mZEEZS -~ — — —
zh st 100|199 ~ 9.78 100.00 | #nds | 000 ~ 9.78| 2.49 13.32 zh st 1.00 | 5.00 ~ 1137 100.00 | =S | 6.00 ~ 2275 | 2.49 13.32
2 100kN/m#%#BZ%| 100|000 ~ 236 13680 |3mEBZE| — ~ — — — | 100kN/m%Z#BZ25 | 1.00 | 11.58 ~ 3155 136.80 |3mE#BZ5 -~ — — —
zh sk 100|236 ~ 1014 100.00 | ThLAS | 0.00 ~ 1014| 2.88 15.40 zh st 100|500 ~ 1158 100.00 | =hst | 500 ~ 3155 2.88 15.40
3 100kN/m#%#BZ%| 100|000 ~ 282 14454 |3mZEBZZ| — ~ — — — | 100kN/m%EHBZ3| 1.00 | 1088 ~ 3095 144.54 |3mZEHBZ3 -~ — — —
zh st 100|282 ~ 1060 100.00| FThst | 0.00 ~ 1060 2.98 15.97 zh st 100|500 ~ 1088 100.00 | =hst | 500 ~ 3095 2.98 15.97
4 100kN/m#%#EZ 5| 1.00 | 000 ~ 346 155.68 |3Im&EEZB| 0.00 ~ 0.44| 3.24 17.34 | 100kN/mM%E#BZ5 | 1.00 | 1059 ~ 3225 155.68 |3mE#BZB| 2500 ~ 3225| 3.24 17.34
zh sk 100|346 ~ 1124 100.00 | ThS | 044 ~ 1124| 3.00 16.05 zh st 100|500 ~ 1059 100.00 | Zhs | 500 ~ 2500| 3.00 16.05
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ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
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